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O 0O 0O O 1. -1-201 121-1-41 =? This is the first math question | had.[
JO000000o00o0modndnkKey:-202-4=-222. a=
24 b=2"a, 2" x=a"\b, what Is value of x? a=2"4=16. b=2"a=2"16.
2" x=167(2"16)=2"(2"18) Key:a x=27"18=1024*256 3. gt.* gt.,
the answer is -1. The last quesion in Math. Key: ((x

V) (X-y))*((y-x)/(y x))=-14. X, Y are positive integers. Is Y odd? a.
XY=even b. X Y=even* Is” type questiona: Y/N (yesor no,
means Y can be either odd or even) not sufficient b: Y/N not
sufficientab: (0 O O O O) IfY odd, then (a) x is even and then (b)
X Is odd-gt.can be true. Thus Y MUST be even. Therefore, to answer
“ IsY odd” , NO. So a b together sufficient. Key C: a, b alone not
sufficient, but together are sufficient. 5. How many mutiples of 3
between -100 and 100. | choose 67, as | consider 0. 1. 10 00 [J O O O
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O xyz2(mnp)9=35a mnp=3Key:37. 000000000
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[ Keyld O O 1. For #2, most likely, the answer will be in a base of
2.Here is how | will solve it in a base of
2.a=2"Nb=2"a=2"162"x=a"b=(2"4)"b=2"(4b)xIn(2)=4bIn(2)x=
Ab=4*2"N16=2"2)*(2N16)=2"MN80 U 0 DO 0O oooo g
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